SUPPLEMENTAL MATERIAL

‘ Start number ‘

n=3,043 Stage 1 HTN . [')‘fzi&’;ar Stage 2 HTN Course A
3.4+2 3year (n = 3,043) 0423y (n = 485)
4% = 356031 Elevated BP
.0+3.0year (n=5,031) n =262 Stage 2 HTN Course B
3.3+2.3year (n =262)
Normal BP
(n =15,527)
= Stage 1 HTN n=1434 Stage 2 HTN
n= 7,442 Course C
4.1£2. 7year (n =7,442) 4.7+2.Byaar (n = 1,434)
n =850 S L Course D
3.3+2.1year (n = 850)
Final number
Normal BP Elevated BP Stage 1 HTN Stage 2 HTN
(n=2,204) (n=1,726) (n = 8,566) (n=3,031)
14.2% 11.1% 55.2% 19.5%

Values are expressed as n, mean £SD (standard deviation) year. BP = blood pressure, HTN = hypertension (Ages: 40-49)




Start number

n =687 Stage 1 HTN n=127 Stage 2 HTN Course A
3.1+2.3year (n = 687) 3.6+2.1year (n=127)
4"1 =31 6237 Elevated BP
e (n=1,237) n=93 Stage 2 HTN c B
3.0+1,8year (n=93) ourse
Normal BP
(n=4,003)
n=1,980 Stage 1 HTN n=516 Stage 2 HTN
3.9:2.6year (n = 1,080) 4.6+26year (n = 516) Course C
n =334 S L Course D
3.2+2.0year (n=2334)
Final number
Normal BP Elevated BP Stage 1 HTN Stage 2 HTN
(n =452) (n = 457) (n =2,024) (n = 1,070)
11.3% 11.4% 50.6% 26.7%

Values are expressed as n, mean £SD (standard deviation) year. BP = blood pressure, HTN = hypertension (Ages: 50-59)




Start number

n=245 Stage 1 HTN v g?’ Eho i Course A
3.4+2.0year (n = 245) -1 £.Cyear (n=83)
n =408 Elevated BP
3.6+2.3year (n = 408) N=75 Stage 2 HTN c B
3.5+2.4year (n = 75) ourse
Normal BP
(n=1,642)
n =855 Stage 1 HTN n=428 Stage 2 HTN
3.5+2 3year (n = 855) 4.8+2.8year (n = 428) Course C
n=317 SEE Course D
2.8+1.6year (n=317)
Final number
Normal BP Elevated BP Stage 1 HTN Stage 2 HTN
(n=73) (n = 88) (n = 578) (n = 903)
4.4% 5.4% 35.2% 55.0%

Values are expressed as n, mean £SD (standard deviation) year. BP = blood pressure, HTN = hypertension (Ages: 60-79)

Supplemental figure 1. The progression from normal BP to stage2 hypertension (Ages: 40-49/50-59/60-79)




Start number

n e Stage 1HTN 4 1n:7_43l}:.'1ar Stage 2 HIN Course A
3.1+2.3year (n=2118) S (n = 403)
n=23125 Elevated BP
3.4z2.7year (n=3,125) Stage 2 HTN
=3 n=194
3.0£2 2year n=194) Course B
Mormal BF
(n =9,690)
n=>5073 Stage 1 HTN n=1232 Stage 2 HTN
3722 dyear (n=5073) 4=z Tyear (n = 1,232) Course C
n=73 Stage 2 HTN Course D
291 8year (n = T736)
Final number
Ry ~ ~ ~
Mormal BFP Elevated BF Stage 1 HTN Stage 2 HTN
(n=756) (n=2513) (n =5,556) (n=2565)
7.8% 8 4% 57.3% 26.5%

Supplemental figure 2. The progression from normal BP to stage2 hypertension (Sex: male)

Values are expressed as n, mean £SD (standard deviation) year. BP = blood pressure, HTN = hypertension




Start number

=202 Stage 2 HTH
n=1357 Stage 1 HTN 3 ?n_z Tyear a CDLIFSG A
3.7+2.3year (n = 1.875) = (n=292)
n=3351 Elevated BP
4523 Dyear (n = 3.551) Stage 2 HTN
— n=236
3.5:2 2year (n = 236) Course B
Mormal BP
(n = 11,482)
n=5,193 Stage 1 HTN n=171486 Stage 2 HTH
4,42 Byear n=5.193) 47+2 Byear (n=1.146) Course C
_ Stage 2 HTH
n =765
3.4£2 2year > (n = 765) Course D
Final number
~ ~ ~ R
Mormal BP Elevated BF Stage 1 HTN Stage 2 HTN
(n=1.973) (n=1458) n="5612) (n=2439)
17.2% 12.7% 45 9% 21.2%

Supplemental figure 3. The progression from normal BP to stage2 hypertension (Sex: female)

Values are expressed as n, mean +SD (standard deviation) year. BP = blood pressure, HTN = hypertension




Start number

n=3161 Stage 1 HTN — %Dia; Stage 2 HTN Course A
3.4+2 Jyear (n =3.161) -2y (n = 500}
n= 5423 Elevated BP
4.1=3.0year (n=5423) Stage 2 HTN
- n=36
3.3£2 year (n=316) Course B
Normal BF
(n=17,093}
n=23109 Stage 1 HTN n=1701 Stage 2 HTN
4222 Tyear = 8.109) 4842 Tyear (n=1701) Course C
n=1,100 Stage 2 HTN Course D
3322 1year (n=1,100)
Final number
N~ N ~ N~
Mormal BP Elevated BF Stage 1 HTN Stage 2 HTN
n=2461) (n=1946) (n=9,069) (n=23617)
14 4% 11.4% 54.6% 21.2%

Supplemental figure 4. The progression from normal BP to stage2 hypertension (BMI1<25 kg/m?)

Values are expressed as n, mean +SD (standard deviation) year. BP = blood pressure, HTN = hypertension




Start number

_ n=195 Stage 2 HTN
S 3.1+_2331_4 Stage 1 HTN 4022 2year 105 Course A
3+2 3year {n=2814) (n= )
Sn? = 21 .{353 Elevated BP
AT oyear
g (n=1253) n=114 Stage 2 HTH c 5
3.3+ 1 Gyear {n=114) ourse
Mormal BP
(n = 4,079)
n=2/157 Stage 1 HTN n=677 Stage 2 HTH
3622 3year 0= 2.157) 46+2 Tyear (n = 677) Course C
n = 401 2 el Course D
2.9%+1 7year (n=401)
Final number
~ ~ ~ ~
MNormal BF Elevated BF Stage 1 HTNM Stage 2 HTN
(n = 268) (n = 325) {n = 2,099} (n=1387)
6.5% 8.0% 51.5% 34.0%

Supplemental figure 5. The progression from normal BP to stage2 hypertension (BMI1>25 kg/m?)

Values are expressed as n, mean £SD (standard deviation) year. BP = blood pressure, HTN = hypertension




